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Daily Practice 8.3.2018
Q1. Simplify 3k*x8k  214ic? , =
ol Bl 3
Q2. Write as a single fraction k+3 4k+l . SktlS _ B+Z
2 5 ) 10 _ 2u+l3 Today we will be learning how to caluclate arc
R length.
Q3. Simplify —**3 x4 | .
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Qg. Write 16 000 000 in scientific notation
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How do you work out the length of a fraction of the circumference?

Arc length
5

An arc is 3 fraction of the circumference of 3 circle.
Work out the following:

(a) The length of an arc that is a quarter of the circumference of a
circle with a diameter of 20cm
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(b)The length of an arc that is a half of the circumference of a circle

The minor arc is the smaller fraction of the circumference. The
with a radius of 11cm

major arc is what’s left (the larger part).
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What if instead of a fraction, you were given the angle at the centre?
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How could you work out what fraction the arc is out of the
circumference?
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Arc length
5

Examples:

1. Calculate the length of the minor arc AC
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Daily Practice 9.3.2018
Q1. Write as a single fraction 3a sa 3«
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A mirror is shaped like part of a circle. )
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Calculate the length of the base of the mirror, represented in the diagram by
AB.

Q1. Simplify the following:
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Arc length
9
Examples:

2. Calculate the perimeter of the major sector POQ
”’- ns.-“.
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Today we will continuing to practise questions on arc
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Homework due today!
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Q2. Write the following as single fractions in their simplest form:
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Today we will be learning how to calculate the area of a sector of a
circle.
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Daily Practice 12.3.2018

Q1. Calculate the value of a car that was worth £6300 and depreciated
by 15% b0 = 033 =

Q2. Multiply out and simplify (3x - 1)(24 k580
w-a:‘wﬂ
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Q4. Calculate the length of the minor arc AB shown B
Ranxiosdlnm (@)

Areq of 3 sector

How do you find the area of 3 circle?
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Area of 3 sector

0
X 2
Arezof asector= ——— X TV

360

Ares of 3 sector

Examples:
2. The broach shown
is in the shape of a sector

of a circle.

Given the radius

is 11.5cm), calculate the shaded area
Ko o= = P ()
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Today we will be working out how to find the
angle at the centre of a circle given the
circumference or area.
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Area of 3 sector

‘The diagram below shows a sector of a circle, centre C.

Examples:

D

1. Calculate the area of the

sector CDE where .-i' "'r‘
r=12.5cm “'-E l"’“"s

and DCE = 110° n-l'ﬂ“"" aap’

E

The radius of the circle is 12-5 centimetres and angle DCE is 110°.
Calculate the area of the sector CDE.

Daily Practice 1432018
Q1. Factorise x* + 3x - 10
(-+35)C=-2
Q2. Multiply out and simplify (p +3)(p - 1)
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Q3. Simplify —— Tt o

3 2
Q4. Write as 3 sing|e fraction ————»,x#-1,0
x+1

- R | =L
e

Finding the angle at the Centre - Worl ing backwards

A pendulum travels along an arc of a circle, centre C.

Examples: c
> D
—_—x é
Bb= 2 xuxhd 20cm,
30
=l +40%
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yow ° Mo
%346 P
¢ length of the pendulum is 20 centimetres.
L‘K” =3 :::pendulumlwli)nglfromATi_

The les of the arc AB is 28-6 centimetres.
. e lengihof he asc AB i 28 cerimetres,
Find the angle through which the pendulum swings from A to B.
x =315 (1dp)
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Ahgle at the Centre

sensor

2 A sensor in a security system covers a

’ horizontal area in the shape of a sector
of a circle of radius 15 m.
—

3 The area of the sector is 200 square metres. 20 Questions Mental Maths

“'Findlhelengmoflhearcuflhesecmr.
—_— ———

‘/M'Tl";"ﬂ‘ “‘ﬂh‘-i‘l'ﬂf‘

?%’m.z . A"-bﬂk

%= 10 "_‘/ .9
+ e s 2 AXX3O
Ll\\‘f‘“ 3o
a)lam ('Ar)
The boat on a camnival ride travels along an arc of a circle, centre C.
[+
The boat is attached to C
by a rod 6 metres long. $m
The rod swings from position CA
Today we will be continuing to find the angle at the centre 0 positien CE. * »
. The length of the arc AB is 7 metres
given arc length or sector area. ) i
Find the angle through which the
rod swings from position A to position B. 4 RE
1. 2.
* Find the angle at the centre of each sector i~ Find the angle at the centre of cach sector —
(a) (b) 385 m (b)
x©
7 e 13m Tm
(e) (d) ()
375 m
20 m
20 em
18 em 70 cm 575 cm® ol
x 4200m*
3 The sector shown has an
* area of 57222 em’.
(2) Find the size of the o
angle at the centre. 18 cm
57222 cm®

(b) Find the length of
the major arc.
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